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The Oeclination 0f a celestial object dnd the 0bservers Latitude determine whether a  particvlar star is circvmpolar,
Sup pose wWe arc 0‘5¢fV¢'uj feoum Leeds, Llatitede + $3°, This mcans tiat Polaris s 53° above the horizon, Tt follows Ehat
the awgvlar distauce between Polaris awl the observer's Jemith s (90- 5‘3)0 = 371°

lo an observer iw fac Northeru Hcm[spkcn., the lowest poiat of a star s Whea t (ics dve Morthh . Auny Star which s below
the Pole by aa Quqular dmount Just cqral o one’s Latitude Wwill just skire the Northera horizom at (ts lowest point
If it is mneaver the pole thauw 530 (:’u ovr case) it will never Set, That is, it will be circvmpolar . The Declination of the
Star s mcasvred from the Equator ftowards fhe Pole. Remeu ber tha t  the Declination of Pelaris (s + 94°,

So, it follows that ‘ﬁ‘“ anguler distauce of a star from Polarcs s (90—-9): wWhere D is the Declination.

We caw calculate €he la‘m’l:s'uj Y DPeclination for a cfromueolav- Star by vaﬁrqcéfuﬁ ovr Latitvde Frowm 9o°) which qi{ves
vs the augle downwwards frouw the Pole, From Latitude + 30 (Leeds), o« star

i($ (90- 5’3)’ = 37° or greater.

will be Circvmpolar ©f its Declinatiog

Where ( s the Observer’s Latitode .

The condition cau be writtea as : | Declination ; 900 - (

Siu”u’ r'CR.SOnl'h.j IC“JS vs ‘o rt&“}c I':ka.‘l‘- a Sfc\.r wWhich Iics a_f any D¢C{[“_a£[0n Soutk of "390 well nNevev
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rise from Leeds.

Cirvmpolar ?

Location Latitude (°) Altitvde of Polaris C’) Stay Its Declination (°) Yes No
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